Question Booklet Number

Candidate’s Roll Number / 315 T TeT TFaX

TEST CODE : B

Time Allowed : 1 Hour 45 Minutes
gy : 19927 45 T2

Total Questions : 100
0 T : 100

Maximum Marks : 100
37ferhaq 37 : 100

KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING THIS QUESTION PAPER
39 UY-UF i T R A gt huat fmferRam e @ ug

=

This Question Booklet contains 100 questions with |7, wwmﬁ 100 T T | WW%%Q 1 3HE |
weightage of 1 mark for each question. L )

2. Before attempting the question paper, kindly check that 2. -0 T HH H I WW?{%%W]}@Z“W
Fhits 'b(i?klft }X;st }thtatl 2? ?i}gles and OlV{DR Ans.afl(?r f}}:e?t ii 2 R 37.uH AR, IR Y57k ht i gfeat € | el i aere & I
in triplicate. e start of the examination within the firs & . s R . AR ;
five minutes, candidates are advised to ensure that all & fop wfia s € < ot & T N o foh I
pages of Question Booklet and OMR Answer Sheet are AT Wgﬁ?ﬂﬂ ST WA, WW%WE{% TR WE
g;(;pﬁgl Ill)gnted and Question Booklet is not damaged in @Eﬁ% ﬁrmgﬁ%ﬁraﬁﬁmﬁ YT Hi%rqﬁqufr% | I

3. The OMR Answer Sheet consists of three copies, the |3. 3 THAR Wwaﬁaﬁqgﬁﬁ%’ WC?T‘SI'&T, AT ‘SI'&TQT:[ mQﬁ
original copy, the commission copy and the candidate’s i | 32 SACT-3TT T L | 3.0, I TAeh oAt =1 gy o I
go%%lDovnotthseparatg or ?ig%ﬁge AtI}llem. DSohnoE darkentt{le AT T AAT-ITAT HTeAT T e | anyel gfem gared 2 q-{l

ubbles in three copies o swer Sheet separately. = S e
Candidate must hand over the OMR Answer Sheet without %ﬁqgﬂgﬁw # ?1:? oy il 2 %Q?T T
separating the three copies to the invigilator at the end of l &h I ST AT " ST | 37+ I
the examination. Invigilator will hand over the candidate’s ST HTT 58 T3 eI bl o ST Eohe € |
copy after separating it. The candidates are allowed to take . .
away this Question Booklet with them. 4. FR1Y ¥ord o o foh e 3 T T S 311.0H. . I TAh I

4. Please ensure that the Question Booklet Number and OMR ShH |&IT ThHTT Kl =tey | TRt oft werm i fergmfar ume EIChty
Answer Sheet Serial No. match with each other. In case of STereft o e & we qRde 3R 34}@ T, I 5 Seara] I
any discrepancy, the candidate should immediately report N o .
the matter to the invigilator for replacement of Question et =T | e JR B o uie e o v E\QT"QF HEIRRIIEIY I
Bonlet and OMR Answer Sheet. No .claim in this regard Torame 7 fermam Sa |
will be entertained after five minutes of start of ) I
examination. 5. @t TR fater TS 1.0 AR, ST T H W 2

5. All the necessary particulars on the OMR Answer Sheet 31, TH. 3T, I U5 o ST i AN 781 2 | I
should be filled carefully. Change of OMR Answer Sheet is e
not permitted. 6. 3H WA YRRt I ALTA.IN. ST T 6 HH T T TR I

6. Do not forget to write your Roll Number on the top of this Ll : i g ¥ Rt
Question Booklet and OMR Answer Sheet. Do not tear or T ‘qﬁ R . Bl ﬁ@w S * sﬁg@
fold any page of the Question Booklet and OMR Answer A A IS HRAAS | I
Sheet. o -

7. Candidate has to fill one option compulsorily out of the five |7+ 2 I fawme W <l § & @ e HT S 2|7 I
options given. If a candidate does not know the answer, arreff ol I T e B, O 3 uiwal e (e (B)) war
then he/she has to fill the fifth option (option (E)). Extra Tt e tor e srfafies fw s | aieat
five minutes will be given to mark the fifth option, No marks B | Wﬁ ¥ 1\?111 trﬁrv . few . ! I
will be awarded against the fifth option as it indicates that T T WX IS 3ie T o ST ifen 9 % Hohd fierd ©
the candidate has not attempted that question. Top areeff ¥ 39 99 o1 ST T R R | I

CORRECT METHOD/TE! aiteht WRONG METHODS /AT itk |

0006

®®006G OPOOE APOOOE G000l

8. There shall be no negative marking for a wrong option
having been filled. In case a candidate does not wish to
attempt a question, he/she will need to fill in the fifth
option/bubble in the OMR Answer Sheet. Failure to do so
shall result in deduction of one mark.

8.

mWwﬁwsﬁéﬁﬁﬁamﬁWﬁ%ﬁTﬁlaﬁmﬁﬁéwl
%aﬁmaﬁm%,ﬁsﬁaﬁ.@.w.wwﬁwhﬁl
Tershe /AT ST BT | WT F ot UK ek 3ok Sh1el ST |

h_____________________________________________ﬂ

B &1&

(Read the instructions on last page of this question booklet.)

(59 T Y11 & HAfaw 78 | 13T 5T 4% &1 75 1)



Which of the following statements about
traditional Haryanvi literary and cultural forms is
incorrect ?

(A)

Ratvai is a dance associated with the Mewati
tribe.

(B)

Ragini is a popular form of narrative poetry
in Haryanvi.

(C) Sang (Swang) is a folk theatre combining
music and drama.

D)

Jhumar Dance is performed by men in a

CAD)
o
Arrange the following districts in descending order

of their Census 2011 population :
Hisar, Yamunanagar, Faridabad, Panipat

circular formation.

(E) Not attempted

(A) Faridabad > Hisar > Yamunanagar > Panipat
(B) Faridabad > Hisar > Panipat > Yamunanagar
(C) Hisar > Faridabad > Panipat > Yamunanagar
(D) Faridabad > Panipat > Hisar > Yamunanagar

(E) Not attempted

Which award is annually conferred by the Haryana
Kala Parishad for contributions to Haryanvi
literature ?

(A) Saraswati Samman

(B) Vyasa Samman

(C) Haryana Gaurav Samman
(D) Pandit Lakhmi Chand Award
(E) Not attempted

What was the original name of the fort built by
George Thomas
Jahazgarh ?

(A) Georgegarh
(C) Bahadurgarh
(E) Not attempted

which was later named

(B) Thomasgarh
(D) Jhajjargarh

2.

3.

4.

urtufier gfmorEt wfefere it dithfas w97 % SN

7 ffafaa 4 @ PH-aT FeT Tera 2 2

(A) TS HaTet ST & ST T T 2 |

(B) TR gfmoret § shercrsh 1et T Ush ATk S
e il

(C) W (L&) Tk ofreh Tme 2 forem gt ot
q1eeh T GIISH BIAT © |

(D) R Fed FeST T TeATehTt fermarmer # fefam e
T

(B) 3T Tl 1 9med

freferfaa forett st St SATomT 2011 i SHEET
3 STeIET shH | sFaferd hifery ;

(A) FRTEE > fHR > FHAWR > qriad

(B) ®leree > fedr > ariud > FHAR

(C) feum > e > o > FHAAR

(D) HETEE > qriad > @ > TR

(E) ST a1 =med

g e ity g sfemEt T | JreH %
foTg sifera shiH-81 R YaT fora ST & 2
(A) Gt g
(B) =318 TFAT
(C) efemom T T
(D) dfed craHt =i TR _
S EEEE
(F) 3Tl T =med %%i?

STt i g e fohet ot Het A = ot 5/ e
T STETSTE AT fe=m a2

(A) STeHTE (B) AT
(C) ==IgUTe (D) SISSITTg
(B) TR A& <A1 =med
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Which of the following word best completes the
relationship given below ?

Cell : Organism : : Brick : ?

(A) Building

(B) Wall

(C) Mason

(D) Cement

(E) Not attempted

Find the odd one out :
(A) Violin (B) Flute
(E) Not attempted

(C) Guitar (D) Sitar

Kajal left home for a hospital. She travelled 5 km
towards East, then turned towards South-East to
travel another 10 km, then again she turned
towards North-East to travel 10 km and finally, she
reached the hospital. In which direction is the
hospital with respect to her home ?

(A) North (B) West (C) South (D) East
(E) Not attempted

Find the odd one out :
(A) 169

(B) 91

(C) 187

(D) 143

(E) Not attempted E‘%g
[t
What is the value of the following expression ?
(B32x15)+(6:72+08)— (2'1)2

(A) 1321 (B) 48

(© 879 (D) 1099

(E) Not attempted

5.

7.

9.

frmfafaa & @ w41 v1ee = fow e ey 5 gew

3T S H AT @ 2

TRt ; St :ES?.':?

(A) 3HRA

(B) &R

(C) fueft

(D) e

(E) TR o1 9med g%%
fom g

(A) aEfe (B) gl (C) firr (D) faw
(B) TR S <A1 =med

IS B H FEAA o6 [7g Fehetl | 9 qof ol 3T
5 Toprt =reft, fore aféror.od i o geat 10 foreft =rett,
T o8 SR-U ol SR g 10 Teredl =reft ST 3fa o
T STEAATA T 7T | IHh B o ATUE ITETAT o
femag e

(A) W (B)UfEm  (C) & (D) &
(E) IOl &A1 =med

fommr g

(A) 169

(B) 91

(C) 187

(D) 143

(E) 3T o1 amed

famteied sush FT A TR 2
(32 x 1-:5) + (672 = 0-8) — (2-1)2
(A) 1321 (B) 48
©) 879 (D) 10-99
(B) IO <1 =mea
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10. After interchanging + & x and 12 &18, which of 10, + & x TT 12 & 18 I 319 ¥ dec4 T, Fmfaafad
the following equations will hold true ? T T H--97 TR0 9 2T ?
(A) (18+6)x12=90 (A) (18+6)x12=90
(B) O +12) <18 =60 (B) (9+ 12) x 18 =60
© (12+18) > 12=72 ©) (12+18)x12=72
(D) (12+6)x18=36 —
(E) Not attempted E%ﬂ (D) (12+6)x 18 =36 El%g
(E) 3T & <A1 A1ed o]
11. Har.yana shares its .boundaljy with how many 11, femon i e, feh 1 Ses, R e Tt
Indian States, excluding Delhi ? SA—
A) 5 (B) 6 A) 5 ' ®) 6
€ 7 (D) 4 © 7 D) 4
(E) Not attempted (E) T
12. Only three of the options can be formed using Fhe 12. fUTCIEE CELEBRATION 3 37&rd) &7 ST &k
letters of the given word CELEBRATION, using > i £ o T e p—
each letter only once. One option cannot be : ’ )
formed. Find that word. 1 3T ST ‘” T 2 | 0 ferpes et
(A) ACTION (B) TABLE ST ST Hhall | 78 373 e |
(C) BRACE (D) ELECTRIC (A) ACTION (B) TABLE
(E) Not attempted (C) BRACE (D) ELECTRIC
(E) T & a1 =med
13. Inwhich year was the Circuit House converted into | 13, ®fshe BEH ol fhE a¥ TSIIUA &
the residence-cum-office of the Governor and faggesriew o gfafda e ™ it a'
made Raj Bhavan Haryana ? SRR O o & T/ 2
(A) 1976 (B) 1966 (C) 1986 (D) 1956 (A) 1976 (B) 1966 (C) 1986 (D) 1956
(E) Not attempted E) T N
14. Wha.t 1; tl?e minsimllng fcilucgtiO?al( glée;liﬁcation d. el o el el e ?:\l:rl'lil\T ¥ v ¥ ue H
required for a Scheduled Caste woman > 37f S o A &
candidate contesting the post of Panch in Haryana fere N % ; VS )
Panchayati Raj Institutions elections ? SHla “‘ fere tNRL RTegforeh 2 .IEI ERLLE
(A) 10th pass (B) 5th pass (A) 10 a& (B) 5dtuE
(C) 8th pass (D) 12th pass (C) saiuma (D) 12&f U=
(E) Not attempted (B) TR & <A1 =med
15. In a certain code, ‘BASKET’ is written as|15. W& fifir@ soig #, ‘BASKET® &l *5$3%#1° 3R
‘5$3%#1° and ‘TRIED’ is written as ‘14%#2’. “TRIED’ &I ‘14%#2’ fr@r St 2 | 39 e o
How will ‘SKIRT’ be written in that code ? ‘SKIRT’ =T S forar sirar 2
(A) 3%#al (B) 3%k4l (A) 3%#41 (B) 3%w%41
(©) 3x%41 (D) 3#4%l ©) 3%%a1 (D) 3#4%1
(E) Not attempted ;)l'eﬁéqT °
(E) S e
B &4 &



16. Three friends had dinner at a restaurant. When the |16, 9 SI&dl 3 T WL § @HT @1 | S foret frer, ot
bill was received, Amita paid 2/3 as much as Veena SITHAT = ST & ST T 2/3 WA fohar SR
paid and Veena paid 1/2 as much as Tanya paid. T 3 ST _;r 12 WF[%FSIT | T Y forer =t
What fraction of the bill did Veena pay ? T%IEHT%;HTWT o

A) 311 (B) 13 (C) 511 (D) 411 N
EE)) N (B) d © (D) (A) 3/11 (B) 173 (©) 5/11 (D) 4/11
ot attempte .
P (E) St et & =y

17. What is the name of the Haryana Government 17, mwﬁwﬁwmwm%ﬁwu@
scheme that compensates farmers when market wugd) ¥ = i @ fremr s getesT ot
prices fall below MSP ? 29
(A) Meri Fasal Mera Byora (A) A8 HH QU ST
(B) Krishi Sinchai Yojana (B) FiY fb=rs s
(C) PM-KISAN Samman Nidhi (C) drun-feram wwam fafer
(D) Bhavantar Bharpai Yojana (D) HTeaR SITITS ST -
(E) Not attempted (E) I T T =R E%E

18. What is the primary objective of the “Manohar | 18. Bi?,T(EﬁTITUTr AT W‘fﬁﬂ'ﬂ@ﬁ)mﬁ;@ﬁ"@
Jyoti” scheme launched by HAREDA (Haryana “HIT ST AT hT TTATHh I29T AT R 2
Renewable Energy Development Agency) ? .

L (A) T T TASEI-STENR T ST JhTeT e
(A) To supply LED-based solar home lighting o
JTYf AT
systems to households '-\
(B) To promote electric vehicles through (B) HioHE! o HTEAH ¥ geifegeh dATe1 hl Sgra o
subsidies (C) TTHRT ot T F SoTt T T HEAT
(C) To install solar power plants on government . . .
buildings (D) fé=ms 3 fore foramt oh € Stet vy Soeteer shemT
(D) To provide solar water pumps to farmers for (E) I e AT = TRd
irrigation 0ses
g purp B
(E) Not attempted E%?

19. Which ancient river, often mentioned in Vedic 19. 3fdss Tl § e aftfd s9-H =i 92 Idaq™
texts, is believed to have flowed through TN § Erert sIedt off qT SUeRT RgR Uk SdA
present-day Haryana and its revival is a current TR 2 °
project ?

o (A) JARFFT
(A) Asikni
B) 3aadl
(B) Shutudri ®) I
(C) Vipasha ©
(D) Saraswati (D)
(E) Not attempted (E) ST T < e
B &5&



20.

21.

22,

Which of the following is the State Tree of
Haryana ?

(A) Peepal

(B) Neem

(C) Mango

(D) Banyan

(E) Not attempted

What does the BCC field in an email stand for ?
(A) Broadcast Carbon Copy

(B) Background Central Copy

(C) Backup Communication Copy
(D) Blind Carbon Copy

(E) Not attempted

o

Match Backup media (Column A) with its
Description (Column B) :

Column A Column B
(Backup (Description)
media)

a. Tape Drive i. Cheap but slower, optical

media

b. SSD Backup ii. Fast random access,

Disk durable

¢. Cloud 1ii. Remote, internet-based
Backup storage

d. DVD iv. Sequential-access, low
Archive cost per TB

Codes :

(A) a-iv, b-iii, c-ii, d-i
(B) a-ii, b-iv, c-i, d-iii
(C) a-iii, b-i, c-iv, d-ii
(D) a-iv, b-ii, c-iii, d-i
(E) Not attempted

20.

21.

22,

ffefad # 9 H-a1 s T ST g 8 2
(A) diuet
(B) i\
(C) ™
(D) o2 (3TR) —_—
(E) ST & o1 =med E%i?

A T BCC Hieg FTFm 3d 2 2
(A) SITSHIC HTei HidT

(B) SRUTSE Hoe hidl

(C) SH3TT FRIFI hidT
(D) SATES e hidT

(B) I Tl 1 9med

SheTy HifeaAT (FTeH A) i 36 fFawoT (Fie™ B) &
forem Shifsre -

T A %Iiciq B
(37T (ferert)
i)
a. 3T g5T i, TEdT cAfeR i, SATftesha

Hifeam

b. SSD ST i, O AGIwdeh AN, feohrs
fewn

c. FATIE iii. frare, Sete-emuTid T
e

d. et iv. Sgehivsh-safim, ufd Seft 6w
CIEIEC) NI

C YA

(A) a-iv, b-iii, c-ii, d-i
(B) a-ii, b-iv, c-i, d-iii
(C) a-iii, b-i, c-iv, d-ii
(D) a-iv, b-ii, c-iii, d-i
(E) TR A o1 9med
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23.

24,

25.

26.

27.

Which of the following statements is incorrect ? |23,

(A) Windows 10 Pro is a single-user operating
system.

(B) Windows supports a Graphical User Interface
(GUD).

(C) Windows 10 Pro supports remote access.

(D) Windows allows file compression.

(E) Not attempted

What is the name of the Haryana State Culture |24,

Policy approved by the Haryana Cabinet in
2019 7?

(A) Kala Virasat Haryana Neeti

(B) Sanskriti Vikas Haryana Neeti

(C) Kala Vikas Neeti

(D) Kalash Neeti

(E) Not attempted

Which file format is best suited to store scanned |25,

documents while preserving OCR-readable text
layers ?
(A) TIFF
(B) PDF
(C) PNG
(D) JPEG
EEE
(E) Not attempted I@%ﬁ

Which of the following trees are commonly found | 26.

on the slopes of Morni Hills ?

(A) Deodar and Cedar

(B) Bamboo and Teak

(C) Neem, Oak, Pipal, and Jacaranda
(D) Eucalyptus and Sal

(E) Not attempted

Which of the following is the correct order from |27,

smallest to largest unit of digital information ?
(A) Kilobyte, Megabyte, Gigabyte, Terabyte
(B) Megabyte, Kilobyte, Gigabyte, Terabyte
(C) Gigabyte, Terabyte, Megabyte, Kilobyte
(D) Kilobyte, Gigabyte, Megabyte, Terabyte
(E) Not attempted

frafafaa g @ s-arweT TeAT R 2

(A) f=ist 10 T Ue THTer-gem sfmfén fren 2

(B) faeisT wfthehet ISR $eThE (GUI) T e
FATR |

(C) TerStst 10 91 Reie war (Yat ATTH) sh1 gmel
FATR |

(D) foretst wrser Eefied ot srafa 3T 2 |

(B) 3T Tl 1 9med

2019 ¥ it whse g srgHifed gfamn TSy

TEhfe if A =R 2

(A) e forraa gfemom Fifa

(B) T&anfc foremmar gfmom Aifa

(C) et feremre Fifar

(D) hersT Hifa _

(E) 3T & <A1 A1ed E%%

OCR-9&-17 T Wl ! HLETd Fd g W fohT 7T

TEATASTT ol HUEIT A o [IT hH-GT BIged IET

HeH 3UTH € 2

(A) TIFF

(B) PDF

(C) PNG

(D) JPEG

(E) A o1 9med

frfefaa & & #H9- U am=ra: 7 gt i

TAMT T AT ST & 2

(A) TEER 3R "X

(B) atg 3R ATFTa

(C) im, 37, diuet, I STehiaT

(D) TehlcTeed SR &

(E) ST g1 =med

fefTeet gumT i vl S & vl gt T o wd

0 Frefafag d @ -are 2

(A) Tereitase, HTTaTse, THTse, SUeTse

(B) WTeTge, fahetiamse, immege, e

(C) Tfmrage, ST, Hege, foheiiamse

(D) feheitase, MTrase, HTTese, SUeTse

(B) 3T el 1 9med

&7&



28. A invests ¥ 50,000 for 8 months, while B invests |28. A foret e & 8 #EI4 & T % 50,000 faT AT 8,
80,000 for 6 months in a venture. What should be S&fh B, 6 A2 o foT £ 80,000 fHarsT et 2 |
the profit sharing ratio of A: B ? A : B &1 &Y fore 31amd 9 2147 =R 2
(A) 1:1 (B)5:8 (C)8:5 (D)5:6 A 11 (B)S:s Q(C)8'5 D)s:6
(E) Not attempted o ' ' '
(E) I T a1 =med
29. A trader offers two successive discounts of 20% 29. Teh TR T 2,000 q@ﬁ@aﬁf“ 20% 3R x i
and x on an item marked at ¥ 2,000. If final selling 2l Shilsh ®¢ Ye T & | Il 3ifqq fasha oo
price is ¥ 1,280, find x. £1280% T‘ﬁxﬂﬁml
(A) 25% (B) 20% (A) 25% (B) 20%
(©) 3333% (D) 10% (C) 33:33% (D) 10%
(E) Not attempted (E) IOl &1 =med
30. A conical tent of radius 7 m and height 24 m is|30. 7 HeX B=ar 3 24 HieX F=TE ITAT Tk THTHR
being made. If cloth costs ¥ 10 per square metre, TR ST ST &1 ° | Afe hue skl rrd £ 10 gfa ot
then what is the total cost to cover it from the et 2, 38 e T THA T el AN HT L 9
outside ? (Use Tt = 22/7) (= 22/7 %1 ST BRI ”
(A) £5,750 (B) ¥5,500
(A) 5,750 (B) ¥5,500
(C) 4,800 (D) £6,000 ) % 4.800 £.000
T4, D) %6,
(E) Not attempted El%g © i (D)
& (E) IOl <7 =med
31. A machine produces 1 unit every 2-5 minutes. Ifits |31, Uk A Iedeh 2-5 foe 7 1 El;ﬁ?: T IcqTe it
efficiency drops by 10% after 2 hours of 21 Ffe 2 52 o TAHaT G=iTer o o1e 9Eeh! 2&rdT 10%
continuous operation, how many units will it T B ST 2. a7 S He s e § fray afie @
produce in a 5-hour shift ? a?qﬁ:ra?oﬁ‘; °
(A) 1108 (B) 130 (A) 1108 (B) 130
(C) 112-8 (D) 108
C) 1128 D) 108
(E) Not attempted © ] (D) —
(E) I Tet 1 e 33
32. A manufacturer sells an item to a shopkeeper at a|32, s fAHTdT, T hHER =l Teh o 3 (Fmfar &)
profit of 25% on his (the manufacturer’s) cost ST HeT W 2§% ¥ AT I S=aT & | R s
price. The shopkeeper then sells the same item to a o > F\Q :
customer for T 500, making a profit of 20% on the Sl 9 T T TTE T 500 2, Sl
selling price. What was the manufacturer’s original [EER] A W 20% hT ATH TS | a'{ﬂa?%fq e
cost price for the item ? T T ANT Jeo T T ?
(A) T300 (B) 7400 (A) T300 (B) T400
(C) T240 (D) 320 (C) %240 (D) 320
(E) Not attempted (E) IR ey
B &8&



33. Who chairs the Goods and Services Tax (GST)|33. ¥Rd ® & wd o . (ST uftsg it Tererar
Council in India ? T FATE 2
(A) RB.I Gox.lernor N A) [
(B) Union Finance Minister ) )
(C) Finance Secretary (B) % [EREE]
(D) Prime Minister © for wfear
(E) Not attempted (D) SoT w3
. EEE
(E) 3T 1 =mea 2
34. Which pollutants are the primary focus under| 34, UFEUH (NCAP) & Sidid hi-o EIE;GT:!% T yrerfien
NCAP? e feam T R 2
A) Nitrogen Dioxide and Carbon Monoxide - <
(A) & (A) ATEIISH SEHATFATES TR HTe HHISTRIES
(B) Lead and Mercury
(C) PM2.5 and PM10 (B) e 3 O
(D) Sulphur Dioxide and Ozone (C) dum2.5 3R duw10
(E) Not attempted (D) TTH SEATHES 3R A
(E) ST o1 amed
35. Identify the incorrect pair : 35. W@I{ﬁﬂ%ﬂ'ﬂ?ﬁﬁq .
(A) OPEC - Climate agreement (A) 3% _ STeTaTe SHeiT
(B) NAFTA — North American Free Trade Area QE -
(C) BRICS — Developing economies (B) Bl 53 . &
(D) GATT — Predecessor of WTO (C) o — formpmetier srefeaaeamy
(E) Not attempted E%;E'% (D) 2 (GATT) — SsgI3AT (WTO) T Jaiardt
[=]ei .
(B) 3Tl <1 =9med
36. Which of the following is not an objective of the |36, fmfeiflad & & w-ar eferor uftrE &sfta wgam
South Asian Association for Regional Cooperation TS (SAARC) FHT LT T 8 2
SAARC) ? .
( ) . . . (A) TEET TN | Thichd TSHITdeh ST TTfua
(A) To establish a unified political system across c
EZCI
member states
(B) To strengthen cooperation among themselves (B) aRisgr Hal # e fod o Hel W AT §
in international forums on matters of common e Tﬁﬂﬁﬁ\ﬁ T
interest (C) SFRToT TR 3 AT o SHedToT ohl STa 4T A
(C) To promote the welfare of the people of South S S S O e S
Asia and to improve their quality of life . 2 2
(D) To accelerate economic growth, social (D) &33[ g ol ] H, E UL
progress and cultural development in the Wmﬁﬁ SUEL
region (E) IRl <1 9med
(E) Not attempted
B &9 &



37. Consider the following statements about the|37. WRd & =5k Ud AR@T e (CAG) & T H
Comptroller and Auditor General (CAG) of freferfad srert w famm R
India : I CAG i s wd % wegufa g st st
I.  The CAG is appointed by the President of 2
India. .
II. The CAG can be removed by the Prime L CAG ?ﬁ g ) o ) ¥ l.
Minister. [l CAG g 3R TSI §G&R GHT o i@l
1. The CAG audits the accounts of both the TAQTIENEAT AT 2 |
Union and State governments. IV. CAG w@mder e e foag ot &t T
IV. The CAG submits audit reports directly to FATR |
the Finance Minister. I H Y P I S 0
Which of the above statements are true ? s '
(A) I'and I only (A) Faa | SR 1L
(B) I, Il and IV only (B) sheret I, 111 3R IV
(C) Mand IV only (C) Fae II IR IV
(D) Tand II only — (D) I [ 3R
(E) Not attempted E%ﬁ (E) IR et &1 =Imedt
38.  Which one of the following is not associated with 38, f=feifad & & HH-AT T Teapfd & Taifera Tt
Harappan culture ? 29
(A) Drainage system (A) STA-fepret e
(B) Great Bath (B) faemet SAmmR
(C) Tron tools (C) R 3NTR
(D) Bricks and Beads (D) 3¢ R T h
(E) Not attempted (E) 3R T& <1 9med
39. Which country assumed the BRICS presidency in |39, && & &g 2025 | s it aegerar forg <31 3 ogor
2025 following Russia ? FT?
(A) South Africa (A) afaqor sTshieRt
(C) China (C) i
(D) Brazil (D) ssher
(E) Not attempted . EEE
(E) IR T &1 =med 75
40. Complete the series : 40. @ar Qﬁaﬁﬁﬁ :
4,7, 13,25, 49,2 4,7,13,25, 49, 2
(A) 91 (B) 85 (©) 101 (D) 97 (A) 91 (B) 85 (C) 101 (D) 97
(E) Not attempted (E) S T e
B &10 &



41. Which one set of letters when sequentially placed |41. 3T&RI T hiH-9T e 3 TS e a;@a‘rﬁ GESIC
at the gaps in the given letter series shall complete U shleh ®9 O T ST 9 39 T haTT ?
& ofe ig eii fei gf ii
gfe ig eii fei gf ii o .

o . (A) ifgie (B) figie
(A) ifgie (B) figie . .
(C) ifige (D) eifgi
(C) ifige (D) eifgi E‘%‘g (E) I &1 e
(E) Not attempted e

42. Three tasks must be completed, each taking one|42. aﬁ’qmq‘i{aﬁﬁéﬁﬁ, ﬁqﬁﬁq@eﬁﬁ@w AT
hour : F 1 ; AT 3R srafar it sTevTRaT 8
Task 1 : Needs Anita and Babita 73 2 - Sfar 31 = Y ST &

Task 2 : Needs Babita and Cheenu S 3 - A aﬁ'{%ﬂ; T AT

Task 3 : Needs Anita and Cheenu ] 3 g"LT\ = f 3 2 oh
Only one task can be worked on at a time. No O A P e : S !
person can participate in two tasks simultaneously. =l E. S T F < T H T T o S |

What is the minimum total time to complete all ﬁmﬁqy%@%mwiﬂWW% ?
three tasks ? (A) 2:57% (B) 2%

(A) 2-5 hours (B) 2 hours (C) 3-5% (D) 3%

(C) 3-5hours (D) 3 hours (E) 3T TR ST =R El%g
(E) Not attempted [Ele:

43. Select a figure from the Answer Figures which will |43, ITX TRl § & Ueh SATR( T =9 HIfSIC ST aie
continue the same series as established by the five U9 ST ST T Gt hl ST T |
Question Figures. T 311;5%1? . )

Question Figures : ©
S (W
T+ 1=~ o |27
H @ 6 @ &)
(D 2 3 “4) )
. I ATH T

Answer Figures : <
@[ (B) % A | (B) %
© [ (D) \0% © | (D) \%}
(E) Not attempted (E) SO &A1 =med

44. Which location is renowned for hosting the Mango |44, 8T TIHIT § 379 AcA o AN & foTg sHi-91 T
Mela every summer ? TRge?

(A) Faridabad (B) Panipat (A) FOETETE (B) uriua
(C) Karnal (D) Pinjore (C) FATA (D) fisie
(E) Not attempted (E) STl & =med

B &11&



45.

46.

47.

Consider the statements  about

Haryana’s folk music :

following

I.  ‘Bara Masa’ is a popular musical form that
the of

separated lovers through the twelve months.

expresses emotional journey

associated with

II.  ‘Jhoolna’ songs are
religious ceremonies and sung during death
rituals.

III. ‘Phag’ is a seasonal form of music sung

during the Holi festival and expresses joy
and playfulness.
Which of the above statements is/are true ?

(A) L1I, and 11T (B) IandII only

(C) IandII only (D) Tonly
(E) Not attempted El%g
[=] ekl

Which of the following statements are true
regarding DRIISHYA ?

I.  Haryana launched DRIISHYA for surveying

infrastructure projects.
II. DRIISHYA was launched in 2023.
II.
IV.

DRIISHY A is headquartered in Gurugram.

DRIISHYA provides drone pilot training to
the youth in Haryana.

Options :

(A) L, IIand IV only
(C) Iand Il only
(E) Not attempted

(B) HI and IV only
(D) Il and IV only

A farmer looks out into his farm and sees both
chickens and cows. He counts a total of 30 heads
and 74 legs. Assuming every animal has exactly
one head, how many chickens does the farmer
have ?

(A) 18  (B)15 (O 7 (D) 23

45.

(E) Not attempted

46.

47.

ghEmon & e @it % s § Frefafad oAt w

forem Al ;

[ 9N HED UF AT Wi ®9 8 S aNE
HET o S foree St bt wreHTeRes anm
I I FAT R |

1. g T afiie SaRie & 98 2d § 3 geg

TEHT o ST MY 1A # |

U BT % RN o G TR S e

Hiftd 1 Uk WeH w2 SR ¥E gEt SR

ST ol 3%k LT 2 |

3T | | HH-H/Y FHU T B3 2

(B) saaT [ HARII

(D) &A1

IIL

(A) I, 11 311
(C) et [ SR
(E) I 1 =med

SAXEATECHTAATY, (DRIISHYA) & Hafer &

fefafaa g a s a s a8 2

I B 3 i Ste (SFeEtET) TiEsHTr
% HAeIUT o fTT DRIISHY A &= foraT |

II. DRIISHYA &l 2023 § &if==r foam o |

IIl. DRIISHY A T T TR H § |

IV. DRIISHYA BT § JoAT I $H TRIere
TTSTET0T Y& AT R |

foremea

(A) FaAL NIV (B) ad I ARV

(C) ot [ 3R (D) e 11 3R IV

(E) 3Ol &A1 =med ?%%

e [eh@T 370 Tl | Q@ & ST gRTar 37 St
AT 2 | 98 F 30 R 3R 74 T e 2 | 7 Aed
U foh & STHaR o1 Woh & R €, o o o foparft
Tfifat & 2

(A) 18 (B) 15
(B) TR & <A1 =med

(C) 7 (D) 23

&12 &



48. If triangle represents Men, rectangle represents |48, aﬁﬁ*ﬁag@ﬁm% ST SISETRET ! SITTdT
Businessmen and circle represents Millionaires, 2 3 I HUSUTT I T0TdT =, AT hi9-Hl G 39
then which number represents Men that are both et el 2 S SHaErh ot e A E 0
Businessmen and Millionaires ? ° .
A) 13 (B) 10 ©) 11 D) 12 (A) 13 .(B) 10 © 11 (D) 12
(E) Not attempted El%g (E) S :@%g
B [E]eAe
49. A piece of paper is folded and then holes are|49, W%@gﬂ%‘cﬁlﬁ@aﬁ% Sﬁtﬁ?{?}lﬁ%ﬁ’ﬁm
punched in it, as shown in the Question Figures. ST 8, ST for ge etresfaan § e mar R & e
From the given Answer Figures, indicate how it I SATHERET ¥ TATT B Gl W g Far e
will appear when opened. 7| ‘
Question Figures : ST9 AT et -
Answer Figures : S c““' T
(A) (B)
00 (A) (B)
P 0®%s0 I o0
/600°%0dy
© i (D) : (C) (D)
(E) Not attempted (E) IR LT ST =R
50. A scored 20% more than B. B scored 25% less than |50. A 9 B ® 20% 312 aﬁﬁmﬁﬁq IBICH25% &7
C. If C scored 80, what is A’s score ? 3feh umH for | Ife C F 80 37 9w fohT, dT A & 37
(A) 72 (B)76 (C)80  (D)84 [ERER
(E) Not attempted (A) 72 (B) 76 (©) 80 (D) 84
(E) 3Ol &A1 =med
B & 13 &



51.

52.

53.

54.

55.

56.

If 3A =2B =4C, then whatis A: B :C ?
(A) 2:3:5 B) 4:6:5
(C) 2:3:4 (D) 4:6:3

(E) Not attempted

Which of the following pairs of scientific
inventions and scientists is incorrect ?

(A) X-rays — Roentgen

(B) Periodic Table — Mendeleev

(C) Radio — Rutherford

(D) Penicillin — Fleming

(E) Not attempted

Which of these gives an incorrect relation between
HCF and LCM ?

(A) aand b are both divisble by HCF (a, b)
(B) HCF < min (a, b)

(C) HCF (a,b) X LCM (a, b)=a/b

(D) LCM > max (a, b)

7
(E) Not attempted O™
Fill in the blank :

2 2
Ifa +b =29andab=10,thena+b=
(A) 14 B) 9
(C) 14 (D) +7

(E) Not attempted

Which of the following ‘data set-to-average’ pairs
is incorrectly matched ?

(A) [2,4,6,8]—5
© [1,3,57]—4
(E) Not attempted

B) [3,5,7,91 -7
(D) [4,6,8]—6

Which of the following is the highest peak in
Haryana ?

(A) Riwasa Hill
(B) Karoh Peak
(C) Dhosi Hill
(D) Khanak Hill
(E) Not attempted

51.

52.

53.

54.

SS.

56.

G 3A=2B=4CT, A A:B:CHTR?

(A) 2:3:5 B) 4:6:5

() 2:3:4 (D) 4:6:3

(E) ST &l <A1 =med

frafafea o @ amfe snfasprt i Sfent =
-1 I 77T 8 2

(A) THEY —TUESH

(B) Tad areft — Heefla

(C) A - TwiE

(D) uffaferm — vt

(B) I Tl 1 9med

T8 ¥ SI9-AT HCF 3R LCM & sl 7Tere el 3T
29

(A) a3 b3HT HCF (a, b) A favrsa &

(B) HCF < min (a, b)

(C) HCF (a, b) X LCM (a, b) =a/b

(D) LCM > max (a, b)

(E) 3R & <1 9med

ﬁT‘HW’Tﬁ'Q:

A a +b° =203 ab= 10,8 a+ b=

(A) 14 (B) 9

(C) +14 (D) +7 gl%g
(E) ST el 1 =med Bl

frefafad & @ FR-8 T Fed-siEa Im &
IEKIER/ AR

(A) [2,4,6,8]—5
() [1,3,5,7] -4
(E) 3Ol &A1 =med
feferfga & @ giemn it god =it = -
292

(A) farar veret

(B) g =t

(C) et wRTet

(D) Gk TETSt

(B) 3T el 1 9med

®B) [3,5,7,91 -7
D) [4,6,8]—6

& 14 &



57.

58.

59.

Match the landmarks in Column A with their

correct locations in Column B :

Column A Column B
(Landmark) (Location)
a. Brahma Sarovar L. Faridabad
b. Surajkund ii.  Bhiwani
c. Tilyar Lake iii.  Kurukshetra
d. Star Monument iv.  Rohtak
Codes :
(A) a-i, b-iv, c-ii, d-iii
(B) a-iii, b-iv, c-i, d-ii
(C) a-iii, b-1, c-iv, d-ii
(D) a-ii, b-i, c-iv, d-iii
CLq0)
(E) Not attempted E%g

Which of the following is the correct group of
physiographic divisions of the Ghaggar-Yamuna
Plain in Haryana ?

(A) Malwa, Khadar, Doab and Rohilkhand

(B) Bhakra, Doab, Terai and Chaur

(C) Bangar, Khadar, Naili and Bet

(D) Bhabar, Terai, Khadar and Bundelkhand

(E) Not attempted

What was Firoz Shah Tughlaq’s contribution to
Haryana’s irrigation ?

(A) Dam on Ghaggar River

(B) Lakes construction in Rohtak
(C) Water tax removal

(D) Yamuna Canal

(E) Not attempted

57.

58.

59.

Hicdq A § fou T Torcfegt o i B § feu e 39
T Tt @ fie i

HIcTH A HIcTH B

(EIAfIR) (¥eIT)
a. TEEIR i HEEE
b. WSS . THEH
c. foemmsier iii. Fwem
d. RRTERE  iv. Ugdsh

%e:

(A) a-i, b-iv, c-ii, d-iii
(B) a-iii, b-iv, c-i, d-ii
(C) a-iii, b-i, c-iv, d-ii

(D) a-ii, b-i, c-iv, d-ii

(B) I Tl 1 9med

frfafaa # & iF-|1 SREmm § SR §8H %
VTITTRTreh forTST o7 Wt TE 8 2
(A) TTALT, G, SIS A Vfeeras
(B) WRGST, SISTe, a8 3T =R

(C) TR, WeT, At 3T o

(D) WTeR, TS, WIET 3R JITES
(E) ST g1 <med

e

i <t =g & RS 3Te e i T AT
o 2

(A) =R & T Sty

(B) Ugdsk § gfiett =t fmfor
(C) e L BT

(D) T TR

(E) 3T A o1 9med

& 15 &



60. What is the primary objective of the e-Adhigam

61.

62.

initiative launched by the Haryana Government ?
(A) To offer scholarships for higher education
abroad

(B)
©)

To provide free internet access in rural areas
To distribute tablets to students in grades 10
to 12 for digital learning

(D) To establish new government schools in
urban areas
(E) Not attempted :@%g
O o

Consider the following statements about the
Vardhana Dynasty :

I.  Their initial capital, Sthanveshvara, was

located in present-day Haryana.

II. King Harsha later relocated the dynasty’s
capital to Kanyakubja, a city in modern Uttar
Pradesh.

III. The final capital of the dynasty was also
known by its ancient name Thanesar.

Which of the above statements is/are true ?

(A) Tonly

(B) Iand II only

(C) I, 1 and III

(D) II and III only
(E) Not attempted

Which ocean current is warm and helps keep
Western Europe’s climate moderate ?

(A) Humboldt
(B) Labrador

(C) Gulf Stream
(D) Canary

(E) Not attempted

60.

61.

62.

BT WHR F & H TG 3-ARH wwd H
STTrfire Sevd R R 2

(A) fodwr & 3= fare o forw BEafT YoM T

(B) TTHIOT &= | T:3[coh ST oo Sucred] ST

(C) fefStea forem & faw e 10 & 12 9% &
forenfelat =t 3eeie foafa s

(D) e &A1 H T EThT Thet T AT

(B) 3T Tl 1 9med

T TSEY % o § FEfafed woE ® EEw

Hifse :

I3R! WRIMe T, TATHaYeR I g
o Feer off |

I TS &Y A o18 § TSt ht TSl ST
I TR o T MeT Hges § IR L
GBI

1. TSeeT st Sifan Tt 6 3ges I=ie 9m
ATET G oY ST ST o |

ST | H FHH-A1/H HF T 872 2

(A) Fae 1

(B) aet [ 311

(C) 1, 11 3R I

(D) e 11 3R 111

(E) I &1 =med E'%g

-4l AEEHE W T 2 AR aieHt 0 6
STCTETR] ! HEAW STC T H HEg hid! @ 2

(A) THEIee

(B) WASTER

(C) T Em

(D)

(E) 3T A o1 9med

& 16 &



63.

64.

65.

Match the following Articles of the Indian
Constitution in Column A with their respective
Subject Matter in Column B :

Column A Column B

(Article) (Subject Matter)

a. Article 14 1. Protection of life and

personal liberty
b. Article 19 ii.
c. Article21 iii.

Equality before law
Right to freedom of speech
and expression

d. Article 32 iv. Right to constitutional

remedies
Codes :
(A) a-ii, b-i, c-iii, d-iv
(B) a-ii, b-iii, c-i, d-iv
(C) a-iii, b-ii, c-i, d-iv
(D) a-i, b-iv, c-ii, d-iii :@%g
(E) Not attempted =l

The Sangita Ratnakara, a treatise on music, was
composed by which of the following musicians ?
(A) Swathi Thirunal

(B) Tansen

(C) Amir Khusrau

(D) Sharangadev

(E) Not attempted

Given the table below, which department has the
lowest profit per employee ?

Department No. of  |Profit T in
Employees Lakhs)

HR 20 40
IT 80 70

Operations 50 50
Sales 60 30

(A) Sales (B) IT

(C) Operations (D) HR

(E) Not attempted

63.

64.

65.

Fem A ¥ fou 7oy d@faam & Fefafaa
TRl T hict B H T30 1T 399 wsiferd forr-ag
T T Fifre

HIeTH A FIeTH B
(%) (g
a. o8 14 i IO SR e wdAar
T HTE0T
b. AT 19 ii. Hr (fafen) % wer wHHar
c. FTWRA21 iii. I Ud HAMEAfH T ST
T SARIHR
d. STEBI32 iv. HIAHTHE TR Al AR

3!\76:

(A) a-ii, b-i, c-iii, d-iv

(B) a-ii, b-iii, c-i, d-iv

(C) a-iii, b-ii, c-i, d-iv

(D) a-i, b-iv, c-ii, d-iii

(E) TR A o1 9med

i G T, T TRt ohl AT (Tt Rad § 1 forer
Grfiaenr = &t oft 2

(A) Gafa et

(B) dm&

(C) s Egal

(D) ST i
(E) IOl & <med %%i?

Fr=r <t w8 anforent |, fore fovmr o wfe st @
IO FAE 2

farymr mﬁﬁﬁ Y (TE )
&7
HR 20 40
IT 80 70
BItCINE] 50 50
forsh 60 30
(A) fesht (B) IT
(C) uiETe™ (D) HR
(B) TR & <A1 =Ted

& 17 &



66. A train moving at 90 km/h takes 30 seconds to|66. 90 ferHl/EeT ﬁﬁﬁaﬁmﬁ@%aﬁ@gﬁw
cross a bridge. It takes 18 seconds to cross a pole. FH T 30 Yohe A & | Th @Y FI UK e 39
F[:nd glz)eolength of the bridie. i< 18 AFE TS| W@WWW |
(#) 300m (B) 450m (A) 300m (B) 450 m
(€) 350m (D) 400 m
(E) Not attempted (€) 350m ] (D) 400 m
(E) e &1 e
J3+J2 J3-V2 . J3+J2 J3-V2
67. Ifx_ﬁ—ﬁ andy= ﬁ+ﬁ,thenwhatls 67. Ife x = \/—_ﬁ C‘FﬁTy: ﬁ"‘ﬁ %,?ﬁ
2 2
thevalueofx2+y2? X +y HIAFFETR ?
(A) 49 (A) 49
(B) 25
(B) 25 ©) 50
(©) 50 (D) 98
(D) 98 (E) ST a1 =med
e
(E) Not attempted Ed
68. A tower casts a shadow 20 m long when the sun’s 68. T R T BT 20 ﬁaaﬁﬁ%wajww
angle of elevation is 30°. What is the height of the =hIOT 30° BTl € | 2T i SelT fofcAl € 2
tower ?
20 (A) NG
A) —zm
V2 (B) 20m
(B) 20 m ©) 10m
(C) 10m 20
20 D) —(—
i [ 2T = TRd feiebe
(E) Not attempted (E) S
69. Which of the following is a major Agro-Forestry|69. freaferfaa & @ forer g § aeel-smenfa s
species supporting wood-based industries in = G o arelt B iE] ?ﬁf FfehT St & &9 §
Haryana ? ST ST 2
(A) Deodar (A) ECELI
(B) Poplar (B) AR (diwer)
(C) Sal (C) 9ret
(D) Banyan tree (D) 92 JT (FTG)
(E) Not attempted (E) ST T <A1 9med
B & 18 &



70.

71.

72.

Consider the following statements regarding the

Panchayati Raj system in Haryana :

L The Zila Parishad is responsible for
advising, supervising and coordinating the
functions of the Panchayat Samitis within a

district.

II. The Panchayat Samiti is the highest
institution of the Panchayati Raj system at
the district level.

III. Gram Panchayats directly supervise the
activities of the Zila Parishad.

Which of the above statements is/are true ?

(A) I, 1 and 111

(B) OnlyI

(C) Tand III

(D) Only 11 o

(E) Not attempted IEI%&

What is the name of the radio programme launched
by Department of Women and Child Development
(DWCD), Haryana under Beti Bachao Beti Padhao
scheme ?

(A) Mabhri Beti Bachao
(B) Mabhri Desh ki Beti
(C) Mabhri Laado ki Awaaz
(D) Mabhri Laado

(E) Not attempted

Which institution is mainly responsible for
procuring food grains at MSP for maintaining
buffer stocks ?

(A) Commission for Agricultural Costs and
Prices (CACP)

(B) Ministry of Agriculture

(C) Food Corporation of India (FCI)
(D) NABARD

(E) Not attempted

70.

71.

72.

g § v=d) U sgawt & gy ¥ feferfaa

WWWW:

. fore uftee wens foret 3 fiar =g afufaa =
YATE 3, I TAIEI0T 37T 1T o TH=T 5
o fer ? |

1. Y=maa afufa fSem X 9w 9=t ust sgereen
ol Fal=a GEATR |

1. T v TSt ufese sht aifafarfemt s geer
Tt SRt © |

I H § S8/ HoH T 2/ 2

(A) L 11 3R

(B) Fad

(C) 13RI

(D) a1

(B) I el 1 9med

ST ST ST UG ASHT o I HigeT Td aiTe
forprer fonm (SreseElieh), sfemm g % fo
T fEa HEIHT HTTH T 2

(A) HTEL et sy

(B) W&t qu1 i &1t

ORIEENISEICIEIS]

(D) & arer

(E) IR et &1 =mea E‘%%

=]

T T2 Teh ST TG o oI THEEdT (MSP) W @TeT=
Tiie % e 7o &9 9 -6 g mRn e 2

(A) T ST 3T Fe ST (Sfieeed)
(B) Y HaTeT

(C) Wt @ i (TwetaTs)

(D) TreTE

(B) 3T el 1 9med

& 19 &



73.  Which of the following statements is incorrect ? |73, fy=feiiad & & HH-G1 FAT TAT L ?
(A) Kiel Canal connects the Arctic Ocean to the (A) o7 TR ST TR I ST TerarR
Atlantic Ocean. ISl
(B) Panama Canal connects the Atlantic Ocean to ’ ) )
the Pacific Ocean. (B) THTHT T Fecfeh HETHIR T ST HETHT
(C) Bering Strait connects the Pacific Ocean to F SR
the Arctic Ocean. (C) afGT ScTeA®AE (W2) IINd HETERR i
(D) Suez Canal connects the Red Sea to the TSI TEHNR & ST ® |
Mediterranean Sea.
(D) IS T AT AR i e HIR & et & |
(E) Not attempted ]
E'%E'E (B) I Tl 1 9med
[l
74. Which of the following statements about internet| 74, 3ete Fateal) S Muar o IR 7 FAefafead 7 &
security and privacy is incorrect ? FHET FUT TAT 9
(A) Clearing your browser’s cache can help free
up some disk space. (A) O SIS * a“_ﬂ I @reft T & 3 52
(B) “HTTPS” indicates a secure connection for P et Rt 3 Aeg firet EepelT & |
browsers. (B) “HTTPS” SSsK o oIq Tk UETd 1o i
(C) Using a VPN can enhance security on public HUGETGIE
Wi-Fi networks.
(D) Public Wi-Fi networks are generally secure (©) VPN - T
for online activities. ST HHAT T |
(E) Not attempted (D) TTESeh ATE-HTg Hedeh STHAR T st
iciferfersi oh forg geferd gid € |
(E) TR o1 9med ?@%;E'g
[l
75. In early 2024, which Indian city launched the|75. 2024 sht AT o, forer Wt 3=t § 297 Y uedl
country’s first underwater metro line ? ST el AT IE &8 2
(A) Mumbai (A) Ted
(B) Kochi (B) S
C) Kolkata
© _ (C) AT
(D) Chennai
(D) o=
(E) Not attempted .
(B) ST &l <1 9med
B & 20 &



76. What is the antonym of “Meticulous” ? 80. Fill in the blank :
(A) Precise It is essential that she present at the
(B) Detailed meeting tomorrow.
(C) Sloppy (A) were
(D) Careful (B) be
(E) Not attempted (C) was
(D) is
(E) Not attempted
77.  In which sequence should the following parts be | 81, What is the synonym of “Ancient” ?
arranged to form a proper sentence ? (A) Current
the station/ reached / before noon/ they (B) Future
M (1) (11 (V) (€) Old
(D) Recent
(A) IL IV, I, I (E) Not attempted
B) LI, IV, I
O 1V, L IL I
(D) IV, 1L, L, IIT e 82. Which Qf the following opgions gives the
(E) Not attempted %%‘5 grammatically correct' sentence ? '
: (A) The report comprises five sections.
(B) The report is comprised of five sections.
. i . (C) The report had comprised five sections.
78. Identify which part of the following sentence has . .
1 error (D) The report comprises of five sections.
an error. (E) Not attempted
Each of the boys / have submitted / o
- 83. Fill in the blank :
@ (1) By the time we got there, the train
his assignment / today. (A) leaves
(B) had left
111 v
{m av) (C) left —_—
(A) I (D) has left E%E
(B)1 (E) Not attempted
O v . . .
(D) 11 84. Which of the following describes a person who
does not believe in the existence of God ?
(E) Not attempted . .
(A) Atheist (B) Agnostic
(C) Skeptic (D) Theist
79. Fill in the blanks : (E) Not attempted
As the plane through the turbulence, | 85. Fill in the blank :
passengers their seatbelts tighter. The They were finally able to after a
captain’s calm voice reassured everyone. long disagreement.
(A) flew, fastened (A) burn the bridge
(B) flying, held (B) bury the axe
(C) flew, grabbed (C) spill the beans
(D) flown, hold (D) bite the bullet
(E) Not attempted (E) Not attempted
B &21&



86. freafifiae i & <swimaTe 3 94, frrrferfiad et o fermrm hifsr
, I 59 T ¥ 29 ot us faew g, 9
(A)J,3: B)%E (OLA DT T TR FEgd ¢ |
‘ 1. TS 91 o Ush Y SuaTeRr 99T U A1 U
(E) ST At e e gaxmaﬂf\aamm%ﬁ ?ﬁﬁr%rrazra%ﬁ
87. T FfIAT e ? i !
h E'%ﬁ 1. Tore arerr & &1 2 &1 & 31fres aremor s
(AT (B)IH  (C) F&H (D) T T 39T fordl} SlisTen 3168 © 92 &, 34
e T T hEd ¢ |
(E) IoU Iv.tém?a‘rwmmmwfg
88. “amfisr yoq s atu I R Sl L G
(A) 9T + 31 (B) & + 37 T YT H H HIH-T T E 2
(A) L, 11 3111 (B) L 11, 11l 3T IV
(C)am+ 3 (D) 1% + 30 (C) I, I 3R IV (D) 11, I 3R IV
(E) IR T a1 =med (E) IR eI &1 =t
80, <uf qm YA ar i =t | A B IHEAE - 95. “fe o qfery AT df T T BiaT |’ o o
© = ' IR R
(A) HeRT AT (B) Tererreles ame (A) 3O JAHE (B) 3qqHS
. (C) e wiosrq (D) 3190f 9a
(C)WW (D) forema sersk ey (B) S B
(E) ST 1 = 96. il & @ foraet Swamor T gui 78 2 2
90. SYET IH IEE AET L : (A) *® (B) < ©d (DR
> i o . (B) 3T & &1 =med
(&) ’(B) © ®) 97. IS oG T T HITVIT ;
(E) 3T T &1 e (A)Fg  (B)IX () WM (D) Issaet
(E) 3R Tl &1 et
91. IR forEehT yaTaaT= § ¢
© ik 98. “IfcIST UTH <R’ SR o folt Tt Iee ®
(A)ZF% (B)eFa  (O)wy  (D)@T (A) Tovsfafya (B) STeufsT
- (C) Sseryfay (D) TFTa
(E) ST 1 e (E) ST &l <A1 =med
92. T T < S FRA H AT R 99, few Ty forshedt # afed Toa 1 e AR ©
(A) G TasY (B) ferdor waaer (A) FET (B) FfHM (C) e (D) Few
(C) TS Ugsier (D) Toha ugsier (E) S0 T & =T
: 100. =R & & qeqey qure 1 we auE T8 2
(E) 3T &l o1 =med () aFe, TR,
93, Tfer Tw TOfer Afd T Y | Wit F TR R ; (B) SF-TTHH, TS, ST
(C) SAHHH, IR, ToSAdRT EE
(A) 3T (B) 379 (C) ®9F (D) TF N - E,%g
(E) 3T & &1 =med (B) 3T & &1 =med
B &22 &



